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%ﬁ Haryana Police Constable 2 Nov 2021 Evening (1st Paper)

T Pis wredhey of &,

The highest rainfall place Mawsyneam is
subed i the ;

(A} G Hills (B Naga Hills
i) Lushai Hills (M) Khasi Hills
Find the mis=ing term in the fellowing sories.
B, 24,78 218,
(A} 252

[Ty 32\

(By G
(111 *73
Which of the following Articles of

5
the Indian Constitution deals with =
Right to Education 7

(B 214

(A 41 B
(C) G614 (M) Mone of the ahove

A cube is cub into two equal parts along & plane
parallel to one of its faces. One piece is then
eoloured red on the two larger faces and green
on the retnaiming while the other & coloured
green on two smaller adjacent faces and rad an
the remaining. Each is then cut into 32 subes
of the same size. The B4 cubes are then mixed
up. How many eubes have two red and one

green face ?
(4) 4 @ 16
) 12 Ly &

A ok 30% concession on the label price affaty
article gold for Fs, 8,750 with 25% prnfit on
the price he bought. The laba] price \wad

(A} T 12,000 {B) T 10,000

() T 16000 (D) 713600

‘-'f’l-ﬁr.-huf‘ih:,- following is the walerconducting
tizsue in plants 7
) Fylem

Collenchyms
) Peiian (B} Collenchymu

(D) Phloemn:

- R is the sister
P is related it of G How

W) Uing
o m:x 1H) Sigter
uy
Wiz 13 Daia inadeguante
1'32 W::::ﬂigljﬂw{ng_in an tye Bustainaghle
¥ “W€l11!-ﬂj? = SDG) o theo Uniteyd
Eruky
W, L LT
1l.;-.'-‘i:“m"7|!r e

Yy, .": 'l'hu“m:r
“"'I*-':l

o AL Wy,
e

6.

7.

5
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apallfier T 1 v dfeams i fagg 0 g

N e 2 By T e

() gy we (0
Erefatam e % g w 7 g #ifam

8 0472 215,

() 263 (B 848 %,
(C) 228 oy 272 J
1 B 6 v 4 - e
farem wfive & oy & 7

{A} 41 B (B 210 .
{C) 514 D) 39§ 3 Sy

TF 9 ﬁﬁwwﬁﬁmﬁmﬂﬁﬁhﬁ%m
T A Fe W Y | o et
TS T W T g T e
THL T e e w o T
imwrn & | R e w5 E S g
ST e &) T = et aa = L
ST 2 st it 35 21w o um e g
(a) 4 (B 16

[C) 12 L (o} &

e o W a0k i gz % e A E g
% 8,760 9 &< 0 oon S0 WA T W 25% B
T | g il g e

(A) T 12000 (B ¥ 10,000

(01 T 16000 (M) # 13,000

Bl 189 31 qrerdt B st e e B -
(A) EEm (B) HIFwI
(0 e (n) =i

Poogwud#, R qF w2 PR B
waliT R ¥

(A4) = (B) =

i) W e i
Frefiafias & 4 &-m wgm mg (q) T T
Frema we (o A ) R 7

A Fm wmm

(B) Frojaen 3

1) =k g

) it i it
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Rahul, Amit, Prakash an

of Ram, Sunil, Pratap gn%au%a: rr?;: SONS
necessarily in that order. Each fathe; 1?'3‘1;
only one son and the names of any father ar?g
son pair do not start with same alphabet
Prakash and Gaurav are not the sons of

Sunil or Sammer. Sameer iz n
. ot the f
of Rahul. Pratap's son is At

(A) Rahul (B) Gaurav
(C) Prakash (D) Amit

in an OS (Operating System)
refers to the process of managing various
devices connected to the computer.
(A) File Management
(B) Memory Management
(&) Hardware Management

(D) Device Management
Who discovered Peru ?

(&) James Bruce (B) Jaun Cabot
(C) Francesco Pizaro (D) Mungo Park

Out of 10 teachers of a school, one teacher

retires and in his place, a new teacher of age |

25 years joins. As a result, average age of

teachers is reduced by 3 years. The age (in |-

years) of the retired teacher is
(A) B0 (B) 55
(C) 60 (D) 58

In a row of girls, if Seeta who is 10™ frém
the left and Leena who is 7™ from the »ght,
interchange their seats, Seeta becomes 15
from the left. How many girls aré there in
the row 7

(A) 17 (B) 21

(C) 22 (D) 20

Green Revolution in India started in the year
(A) 1998 -1999 (B) 1978-179

(£) 1967 — 68 (D) Mone of the above

In a certain language, TARGET is coded as
202018751, then BITCOIN will be coded as

(A) 2015149392 (B) 2011549932
(C) 2015194932 (D) 2015149832

aims to boost employment in formal

cector and incentivize creation of new
employment opportunities during the Covid

very phase.
?ﬁ:}m At:};lgnirbhar Bharat Rojgar Yojana
(B) Indra Dhanush
(C) Ayushman Bharat
(D) MNAREGA

CMES - S6

9. g, wifiw, e ot i, T % 3 E T

o Eaﬂtmw—ﬁnﬁﬁaﬁﬂﬁﬁtwﬁm
mm@ﬁﬁ%ﬁﬂw’ﬂﬁmﬁ”ﬁﬂ
IS F mmﬁﬂﬁﬁ_ﬁﬁgiﬁmm
iﬁﬁgﬂamm%yqﬁélmf@ﬂﬁm
AT FEEAE?

@) iy T
(C) Eﬂ D) wE

0. wH OS & _ s g & g8 R
gl = e = < wfr A R
(A) Tl e
(B) Tt weeH

. © T T
(D) Ffes e

. e E T
& {AJ%‘“@ (B) S FE

© wie (@) T "
_ & 10 et 3 | T YA B S
- ?gﬁfgfﬁwm o5 =4 3u I T T A
ﬁgﬁﬁm%|gﬁwmﬂﬁﬁm
S saﬁﬂmﬁlﬁlﬁﬁﬁﬁﬁmﬁ'ﬁﬁ‘ﬁﬁ“

Nt  (f H) 7
(A) 5.0{ (B) 55
(C) 60 (D) 58

1o, el R, AR AR 10
3 s e & 7o ¥, o T RH
xaﬁ?ﬁ%,ﬁﬁﬂmiﬁﬁlﬁﬁﬁfmﬁﬁlﬁ &

(A) 17 (B) 21
(C) 22 (D) 20
14, wrEdetEw_ dHAYEE |
(A) 1998 — 1999 (B) 1978179
(C) 1967 — 68 (D) Foive & § Frd Tl
15. v #, TARGET ! 202018751, $ &9 H F2
=g s &, 9t BITCOIN =i FET
% oz e, forn <mam |
(A) 2015149392 (B) 2011549932
(C) 2015194932 (D) 2015149932
16. F w5 Fige audl TEE & SN
sivantes g 7 femm | afE w0 i Tg Is
il = Wt e 2
(4) SRR ARG s A1
(B) 3= 98

%ﬁ (C) ATT=T \HA
e (D) TR

T22
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18.

FEy
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present only in the
(A) Both (B) and (C)
(C) Lungs

20.

21.

22.

T22

Ehﬁer kg., so that the mixture be worth
E" i

et

Cardiac muscle tissue iz a contractile tissue

The earliest composition in English

“The Canterbury Tales’ was composed by
(A) Dante

(B) Geoffrey Chaucer

(C) Giovanni Boccaccio

(D) Miguel De Cervantes

Diabetes Insipidus is related to thgthormone
(A) Oxytocin
(0) ADH

Read the data given below a}nd
based on it answer the following

Lata moves towards south-east a distance
of 7 m. Then she moves towards west and
travelled a distance of 14 m. From here she
moves towards north-west a distance of 7 m
and finally she moves a distance of 4 m
towards east and stood at that point. How far
is the starting point from where she stood ?
(&) 3 m (B) 9m
(C) 10 m (D) 4m

In what proportion must wheat at Rs. 1.60
per kg, be mixed with wheat at Rs. 1.45

Hs. 1.54 per kg ?

By 2:3
(C) 3:4

(B) 4:3
() 3:2

(B) Heart
(D) None of these

(B) Insulin
(D) FSH

guestions.

Six classmates : Aisu, Rakshita,

Sammy, Sheetu, Varsha, Yogi are

to be seated in a row facing North.

*» Aisu prefers to sit in corners and will
sit next to only Rakshita or Sheetu.

+ Rakshita is to the second left of Yogi and
likes to surround herself with people.

+ Sheetu is to the third right Varsha.

Who is sitting to the right of Yogi ?

(A) Varsha (B) Sheetu

(C) Sammy (D) Aisu

-4-
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i
amaf“&m—qjﬁ?'rﬁ.aﬁﬁ?lﬁm%ﬁ%
14ﬁ.ﬁiﬁmm%luﬁﬁ7m_m_q%.f
qerdi 2 i sia A 4. B g wm g
firg T Y ¥ el & 1T T N R &y,
fg g e 7 '
(A) 3+t (B) o,

(C) 10 . (D) 44,

%. 1.60 vfg form. TAF LA =, 1.45 3% gy, 3
g 1 fop argara # Foremran e s R
wfer form & @ma= & s ? '
(A) 2:8

(C) 3:4

&ad Wft e O FgeT g0 S A

e Tt 1 i B R

(A) (B) 2T (C) & (B) R

(C) ¥ (D) 7 & 7

s 4 vy T SrEh i
700 T 7

(A) &Td

(B) Sk shidX

(C) Frafrash i

(D) forperst < wH

=fadis sifued 2T B EE b |
(A) SRR (B) ¥gfeH

(C) ADH (D) FSH

P e e =T 1 ST ST I R AT

®: genel : 9g, e, @, ‘éﬂﬂfﬂfﬁ“mm

1 37T g T 4 8

g 7 e T el & oA T
;ﬁgﬁ;aﬁmﬁﬂ#ﬁl 4
<fagem, e & o o @ gl @ oI E
il & o T o ©

. g, 79 3 < 3 FRR AR

(B) 4:3
() 3:2

T Fed A e ?
(A) =i (B) i
(C) =t (D) ¥
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— —— are added to grab the audience's

attention as well as to reinforce the point

that needs to be highlighted.

(A) Animation effects

(B) Package for CD

(C) Screen views

(D) Transition effects

Fixing the maximum size of land which could be

pwned by an individual is known as

(A) Land Reforms

(B) Co-operative Farming

(C) Land Ceiling

(D) Zamindari System

PM-SAMPADA Scheme 1s to

(A) Enhance oil processing sector in India

(B) Enhance vaccine production in India

(C) Enhance fodder processing sector in
India

(D) Enhance food processing sector in India

Choose the best answer based on the given

Host : So here you are at last. EF’E

Guest ; Hope ] am not too late.  E 240

What does the guest want to convey ?

(A) He wanted to reach late
(B) He knows the host doesn't like his

coming late
(C) He hopes he is on time
(D) He knows it doesn't matter even if he is

late
The most distinctive feature of echinoderms
is the presence of
(A) Blood vascular system
(B) Water vascular system
(C) No vascular system
(D) None of these

The most densely populated Continent is

conversation.

(A) North America (B) Africa
(C) Europe (D) Asia
Components of RFID are

(A) Reader

(B) Both (A) and (D)
(C) Neither (A) nor (D)
(D) Processing device
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31.
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Select the correct Murer image of the siven
figuare when the mir i p v AT
. s ] ror e nlaced at line
e z 1 ed &t line AT,
k=]
o |
5 r']I[ Y

[ D=

[_;I_:; ) | =
If (X — 4) is the H.C.F. of fx* _ x — 1

(x? = mx — &), then the vuleuI::uf‘ mxia e
{4) O (B) o

(C)y = Dy 1

In which methods the hard seed ocoat is
ruptured or weakened by machine, hammer,
scalpel to break the zeed dorrmancy ?

(&) Searification
(C) Chilling

AS]

3
D)

(B) Vernalization
(I Stratification
The nun-paying users of the public pogds’are
called

(A) Public protectors (B) Rivalrons

(C) Froe-riders (I MNorie of the above

¥Who iz the current Chiel Justice of India 7
(A) A M. Khanwilkar

(B) M. V. Ramana

{Cy D. Y. Chandrachud

(D) Mone of the above

In Document view displays fext
with character and paragraph formatting,
but does not show headers and footers.

{A) MNormal wiew (B) Thumbnails

() Print layout view {0 Web lavout view
& — B% solution of acetic peid in water is
called

(&) Vinegar

(B) Flacial acetic acid

(C) Muriatic acid

(O} Carbonie avid

o,

dl.

2.

33.
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42,
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44,

[fbelow letteps ; ;
Rt i: ‘1{::-5;?;25%913 the meamnﬁl‘ful
(4) PROMOTION (g propoyunp

(@) FROBATION (D) PROMINENT
[eflation 1s a state of
(A) Low prices

(B Risi :
(1 Medium price e o

D High price

— 1% 8 presentation containg

: : ELITLIN
Power- Toint mazters with Custon {'nrnuauini

fomts, A mi-::n_.tr sc!hr.‘mc. Maceholder for Einck
grophics, animations ang i )

(A Autn ApEce (H) Toalbar
{C) Template (D) Auto contene

Expansion of 1.0,
(&) University Grants Commission
(B) Union Government Coammission
(C) University Grant Corporation
¥ Mone of the aboye
4
IF o of ucistern is fillad in 1 minute, how

Sent of st g0 e will be required to fill the

E{A) 10 second (B) 20 spe

(®) 15 second [I_'l?r 12 igiﬂﬂﬁ

Tatal number of Krishi Vigyan Kendrusin
Harvana

LAY 17 (B 20
() 19 )y 1&

How many 'z are there in the following
sequence which are immediately followed
by 3 but not immediately preceded by 77

ggﬁ1-1253}3556573353'75365335
H

{A) One
{(€) Three

(B} Four

(I Two

Which of the following is not a parasite 7

(A) Tapeworm (B) Femala moaguite
() Liver fluke (D Lice

What is the number that should replace the
question mark 7

5 |&8]12

wla2]s

15 4] 7
(A) 11 (B) 20
[ 15 (o) 14

e

37,

a0

24,
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43,

44,
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TR v 1 e d ey A
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(A} L0 EEE {B) 20%Fs
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(A) 17 {B) 20
{C) 19 (D} 18
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805 3R EPE5568733577536530 5
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(A) TH (B) =1
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The technique in which the semen collecied |
[rom & healthy donor is artifivially introdieeed
Bithor inte the vaging or info the uterus of the
female is called

(&1 Artificial inssmination

(B} Avtifieis] Disscmination

{0y Efaculation

(D) Natural inseminalion

The group of official lanpuapas of UHO ia
{A) Latin, English, French, Russian,
Spanish, Arabic
(B) Chinese, English. Franch, Russian,
! Spanish, Grask
(C) Chinese, Fnglish, French, Russinn,

8 .I-EI.:I'.I.lhh Arabic
(I Greel, I:,ngmh. French, Russiom,

bpunlah Latin

There are only ___ offences in the 1PC,
which are punishable with death,
(A) & (B 8
) 7 my &

is an alloy of Pb and Sn, which has
a law melting point.
(4} Brass
{C) Bronmze
At what time, between 8 and 9 O'clocll/is
the angle between the minute hand andithe
hour hand in 80° 7

(A} B hours Eﬂﬁminutns

() Pewter
(TY Solder

(B} Both {(A) and (D)

() Bhours 431&1 minutes

{1 8 hours Egll minutes
1

The Head Office of Mational Housing
Benk (MHB) is situated at
{A) Kolkats
(W) Mew Delhi
() Mysore
(D MNone of the ahove
13 an application, which prevents
cortain cutside connections {rom entering
into the Metwork,
,;Iaﬁ] Five wall
{B] Digltal signnture
{1} Becotrity policy

(13} Dath recovery

8.

46,

45,
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11 is the netivity of somenne becoming » pape
of o group rather thar a sepaprate E'ntrié:-:'m £ |
(&) Aszimilation (B} 'jl'-lﬂ]:l?at:un-

(e Cohesion (B Integration |

The theme of Paralympies, waz |
{,ﬁ.‘:l World 'i.'I'I'Fl'FI'i.'I:‘\Ed h}" the Para ivnpica. one |
where many shine kiR |
() Warld inspived by the Paralympics, «
were dillerences shine e v |
i World inspived by the Pavalymopics, ane
far differences shineg |
() World inspived by the Darulympics, one
where differances ehine |

A Fairly large arves of areble lend in the |
irrigated zomes of India ie beeoming aalins |
hecause of
() Ohver fvrigation

y Cultivation of same crop
E] Continuols croping

y Uze of exeess ferkilizers

In this question, two statements wre fiven |
followed oy Lwo conelusions. Choose the

ronclusionis) which best fit(s) logically : |
Sratements l
1. Some stetoments are puragraph.

0. Spme stories are not peragraph |
Conclusions :

T Mo story is paragraph. |
1. Some statemsnis are nel BEoCy.
(&) Omly canclusion 11 follows |
(B} Roth concluzions 1 and 11 follows |
(21 Mune of the conelugion follows
Dy Only coneclusion I fallows |

18 laborers can Kl 36 haxes J" 7 Iiil.j':‘..l Hivr
many laborers can fill A howes o2 drwe ! |

4y 38 (B 13
() 46 (D) 66 |
The system mewmory on the motherhoard is
prranged in grovpe pelled the

{4 Memory chunlz (B Siprape hanks

(] Mamury bapks (D Btorage chunis

9.
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1t refors to the pattern of interrclations
botween individuals
LAY Boialization

; B
() Social inatitution

(L
G Gramy Awerds cevemnony was held in
Ay Montreal (B) New Yorlk

() Lordon (T Taos Angeles

Sopial rolo
Zoeial structure

The Momareh hcterfly is highly distasteful

1o its predator; the butterfly acquires this

chemiszal

{4y during ite carerpillar stage by feading
o1l & poisenous weed Eaal

during itz caterpillor stage by b

feeding on a nonpeisonous weed &

during ite adult stage by feeding on a

nonpulsonuns weed

during itz adules stage hy

fezding on a polsonous weed

(B

—

(h

(D}

If Monday falls an 5= of month, then

which day will £zl three davs after

the 2E= 7

(&) Thuraday (B) Monday

() Toesday (I Mone of the ahowve
Which of the fallowing coing are called as
amall coins 7

[A) Cuins woko 30 paise

(B} Coins uplo 25 paise

(2} Coins upto 01 rupee

(I None of the above

Most of the aources of edergy we use
represent atored solar-cnorgy, Which of the
following 1= not ultimately derived [rom the
sun's energy ¥

{4) Geothermal energy

(B) Bio-maaa

(0] MWuclear energy

Dy Wind enerpy

The SBanskrit word “varna' means

(A} Dageribe (B Unigque

{0 Differcoee [T Colour

In eyber lovr terminology ‘TS means

(4) Denial of Bervice

(R PHatant Operetor Service

(@ Dise Operating System

(I Mone of these

10

GE.

Bl

Gl

G2,

G4,

Gd.
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Tz syfdnal & J sereEdl & Y7 S AEhn
ol
(&) TOTHTEAT (T G s{ﬁm
(C) & e m rrTeER "l
G0 = o 2TETE HATE # gal
(4 TTEE (B) =T
(Cy i (1) =i vams
i Frmeft s fimeedl & Tom =g ed § =EEH
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Tt 5| 6 AT oSS T & A 26 T
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Fetates § & - fawe w2 ives

Foeild § 7

(A} 50w (ERE

(B} 25 ¥ 7= = ek

{0y 01 v T T ek

(0 sl i 3w 6t

T T e fleT EE e E sl g

# | Befafes 1 @ F9-T7 o gd | el =0

war 1

i it e

(B) 39 Hn

HEIEEIEET]

Ty T FHal

T e T et Al

(A) wviE e

: (B) wfgdm
[C) 7L

(o i

AT T ) Taraedi B Dol =0 e &
(4 T st widy

(D Fsz it ofdy

(0) o= St e
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which ol the following State Governments

s launched

Bhumibin Majdur MNyvay Yojena" for land

lacs labourars i

i) Arupachal Pradesh

iR Giklkim

i {hhattisgarh

() Mone of the ahove

If the day befare yeaterday was Thuraday
when will Sunduy he? o

ia Today
(B Yeslerdzy
(&) Tomnrraw

(o) Two days after today

On aividing S0 into two paris such that the

=401
;ha.rts a8

{A) 36, 14
[y 25 22

_ are the programs that generate thrsate

E the computer
&) Hacker

(C) Malicics codes (00 Cracker
Aocprding this Fundamentzl Hight of Indian
[(lpostitution child/foreed
(4 Hight to Fouality
(¥ Hight pEainst Exploitacion

{1 Right to Edu

(I Bight Constitutional Temedies

The differsnee betwet

75 of the same -
of that number
(A) 1428
(0 1215

Happa and Delta wariant

first igentified in
i#4) Bangladesh
(B Tndia

i) Brazil

(T Mone of the &

What i3 the minim
to ot g qube into
A 1T
i) 18

m of their reciprocals is i, wi get the
12

"Rajiv  Gandhi  Grameen

==
iy

gt
(=5 el

(B 20, 30
(B 24, 26

aystem and precioes data.
(B Wirus

fahour 12 abolizhed

cation

nadthala pamber and
sumber is 145 What is 483
gy 1124
(n 1572
g of Cowid-1% was
which country 7

hove
v mumber of culs required
150 piecss T

(B 1 B

D) 13

Al-

G,

A4,

T0.

71,

72.

74,

T4.
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{A) 1428 (m 1124
(Cy 1818 ([ 1872
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~—_deals with combating tervarist fnaneing,

(4) Import and Export (Contrel) Act, 1847

(B} Unlawfil Activilics (Pravention) Act,
(CAPA) 1067

() Prevention of Corvaption Act, 1988

D} Nune of thess

¥, Rajendra Prosad Apricolnge University,
adnpmdumnt]eanMadhuhu.nituchnckIw]lu'dan
in willages, 1 is

(A) Barale model
(T Buekon medsl M Sukhet maodel

The smaller the ___therharper will ba
the image when displayed on the moniear.
(A1 Paeudo aolor {BY Aspect ratio

{C) Refrech rate (B} Dt piteh

A helt of marehy ground and vegotation on
the lower parts of the slluvial fans is culled A
(A} Tersi (B} Plateau

(T Play= I Humus !31‘33:

The Prevention of Money Laundermhélﬁzt
APMLY, 2002 was paased by the Parliament
of India in

(A0 Degember 2002
(0 December 2004

(B Delbi miodel

(Bl Dacembur 2008
(T Decembed 2003

The Inter Tropicel Converganca Tond (I
(A} Attracts inflow of winds

1B} Repels water vapours

() Attracts water vapolrs

(B Repels inflow of winda

Questicn below consists of a question

and three slatements numbered T,

11 and IIT given below 18 You have

to decide whether the data provided

in the atatements are sufficient to

answer the gquestion.

What is the code of "use in the rode language' 7
L In = code language ‘water is clean’ is

written ar 'va ye ha'.

In the same code lanpuage ‘milk is

white" ik writtdh as ‘da he ts'.

11t the aame code languaga ‘e clean

water' is written as 'ye to a’,

OnlyIand Il (B Onliland I

Only M and 1T (D) Neke of theae

II.
II1,

[A)
(e

T6.

Th.

.

T8,

8.

B0,

81,
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s Ty | et O e B

(A s T Feetn (P a7, 1047

(B wwies iRt (fidw) use
{LUAPA)Y, 1967

() e s =5 T, 1985

(1) e & i T

2. T veE i favafiem @ o

if T A By vy 3 T T G
&;?:TDT%I ey _E.r g B (O]
(A) T iz (B fagt wi=et

(C) W HeE (D) g wie

_ Ty wte s, ot T oEmi =
vifsfem e e g

(A) wmim (B} =] ST

(R IE (D) =z =

Al & T . werett i o et
ﬁﬂﬂ;ﬁlﬁ Gl #

) i) T

{C} T (I A

v fenr sttt (o), aooz vy =
TG T R 91T TERAT T AT Y

(4 fawen 2002 (B fédem cong
(0 fewe 2004 {1 e 2oo03
T A w B (W A A i)

(&) AT 3T: J@TE F AR B R
(B) =& =3 =1 el won 3
(C) T WS T ST R
(D) WY ST TETE H R W
Frefefem v 3§ o v st AR Fem g L 1
af 111 i fam g %) sy ool S 2 5w
A o T s S S S R e
2 A e o w2 2
L F2 i d water is clean’ %1 ‘va ve ha'
o gan
11, it o2 w1 3 ‘milk is white' %1 'da hy &
HErd s
L ¥ 2 wimi ¥ e clenn waber = Yy kb ve’
Terten =man 3y
(A) e | ot 1rn

(By #as [ s 11
(C) el 11 &M 171

(D) it & o =
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A

[
i‘ﬁsﬁiﬂ] Shallow

| o

Tz EUT0 of infirita serias, 5- §+ ol
(A # WA
(7 (o a

o Fl‘i'_i.'.ET' e R —
prchrlady and it pricts one ch m'ﬂﬁtﬁl‘a?:r:iﬁ:f
(Bl Inlkjet ’
(12} Daizy wheel
Who called 18 “plorning Star of Refortnstion ¥
() Jehn Calvio ;
(B Faeingli

(] Jehin wirvelilte

(1 partin Luther King

(i) Dot patrix
[y D

A pEr IT Act, private key means the key of

a key pair used to oreate a

iy Key pair

(B Public ey

i {prtilication Anthovity

() Digital Signature

Which of the [ollowing Btates hes recently

t]e chird State in the country Lo get

bacame
clean tap water 1n CVery rural househald

ander Jal deevan 7
(&) Haryand
(] Himachal
Arcack @ Defend - Desp ?
i) Harsh {F) Rejoice
(@ Alert

(B) Rajasthar
Pradesh (D) None of the above

arrahgements of the letieTe

a3 The rumber ol
of the word ZA OO if the two ('a dn not
come together 18
(A) 560 (By 120
[0 240 (L TEQ
i
i1 A radicoctive gubstance Uecoye t0 [I_E] of
A
its initial activity in 40 days. The hall life of
the radinactive substanee eyrpressed in dayes 1%
[A) 10 {By 2.5
i) A Dy 20
8. The Wgenda 217 a Lst developmenie! practites

qunnil held in
(B} Rie
(T Maoirobhi

are inlrodused in earth
(&)} Caps Town
(C) Tnhansburg
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(A) 360 (B) 120
(C) 240 (D) 720
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English Lanpuage

Fill in the blanlk with appropriate word from
the alternatives given below it.

1 wall do this without
(A) farther

() later

delay,
(B) latter
(D) further
In the following question, a sentence has
been given in, Active/Passive voice. Out of
the four alternatives suggested, select the

one which best expresses the same sentence
in Pasgsive/Active voice,

Who will help him ?

(A) By whom he shall be helped ?
(B) By whom he will be helped ?
(C) By whom would he be helped ?
(D) By whom will he be helped ?

Below given idiom followed by four
alternative meanings, marked (&), (B), (C)
and (D). Mark the one which you think is
the most appropriate.

A bone of contention

(A) an act of submission

(B) an act of gratitude

(C) a subject of dispute

(D) an area of agreement

Fill in the blank with appropriate
form of the verb from thealternatives
given below it.
The meeting

(A) broke with
(B) broke up
{(C) broke down
(D) broke out

in great confusion.

Fill in the blank with appropriate modals
from the alternatives given below it.
He

outdo every competitor.

a7

99

{A) can

(B) need

(C) would [_El“" 3
(1)) ought ﬁ?}é

a6.

100,
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&= ara

“frev — O™ IEEm R

(A) fam

(B) wegea

(C) wepdtvma

(D) 539 # é e

F= 1 Hied wgrEelgE w
FedE |

(A) =R

(B) wfemn

(8) S

- (D) ¥ & 1 7

UG | TR T e

wean |

(A) THETT

(B)

(C) I

(D) 7 & =i 7

=it foramd et g e w7 = G s =fE
Ft w0 % fore 3w = W Ay wud R, 32
— framiwea®

(A) FE=T

(B) 3nqei

(C) Tromefes

(D) 8 & 1§ 7

W = A WS ohedT o R, W
—  duwmiE

(A) 3f&

(B) &

(@) &=

(D) 398 @ %ré 78
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Haryana Police Constable 2 Nov 2021 Evening (2nd Paper)CMES - S6

fa
1) of Cy.P.C. the Police
1

3 41 Al : 3 ;
g Siift;?nj:suc q notice directing the
cﬁhcg& .?cét-lqef{ though he has committed a
alleged accis

ear before him or
- ahle offence, 10 appea; Le ey
ﬁ?ﬂ::ﬂl}rhm place as specified in notice in
.

all the cases where the arrest of a person is
Imt required under the _ .
(A) Provisions of Sub-Section (1) of Section 41
(B) Provisions of Sub-Section (1) (a) of

Section 41

(C) Provisions of Sub-Section (1) (c) of
Section 41

(D) Provisions of Sub-Section (1) (b} of
Seetion 41

2. Find the number of termsin 1, 4, 7, 10, ..., 34.
(A) 14 (B) 10
(C) 12 D) 9

3. Which of the following countries given below
is not having Veto power in the United
Mations Security Council ?

(A) France @ :
(B) India RHE
(C) China

(D) None of the above

4. The Suez canal links
(A) Red Sea — Mediterranean Sea
(B) Mediterranean Sea — Black Sea
{C) Black Sea — Dead Sea
(D) Red Sea — Black Sea

5. The scars on Potato are also called
(A) Annotation (B) Eyes
(C) Root (D) Ears

6. In a house there are two clocks A and B.
Clock A uniformly gains 4 minutes per hour
and clock B uniformly loses 2 minutes per
hour. What will be the gap between the times
shown in the two clocks after 5 hours ?

(&) 48 minutes (B) 12 minutes
(C) 30 minutes (D) 24 minutes

T Th:-:: sum of a number and its reciprocal is
thry:e the difference of the number and its
reciprocal. The number 18
W) =3 ®) 12

1
0y iT 1
3 (.-D} —
Ti1 i

-

e dt i, it g/ 41 A (1) % FIER, Ferw
arfirar w Afm sl wen fed s s
T T FO TG, I G AT 7
¥ T e B 1 Ry fn Sem s 3
it Tt 1 i § fifde 2, s B safEa 6
Tl <l ST TE &

(A) 9T 41 = I9-HT (1) & TELH

(B) 4T 41 %) 39-4m (1) (a ) & WEUH

(C) 9T 41 1 I4-4T (1) (c) F FEHH

(D) W 41 1 39-um (1) (b ) F IEYH

1,4, 7, 10, ..., 34 9 qai o} G 3@ i |

(A) 14 (B) 10

(C) 12 D) 9 g_; -
Peffm i A e dn R dgw g B0
queT i B aE A 2 7

(A) FH

(B), Witd

€)=

(D) S | | i3 T8

AT T8 wrEar |
(A) €& TIH-YH PR
(B) Y[AY AFR-=TE] 97
(C) el WITL-Ta AT

(D) T T~ &A1 |ITL

e WA P S w7

(A) TARRTH (B) 1@

(C) 7% (D) &1

T HH A HRT BB ufent 2 | A F ufy 52 4 e
=t e Bl 2 3R B # wf o 2 fire 1 adt et
# | 5921 o =18 a1 ufedl § e ar ¥ offg
FAT B ¢

(A) 43{?4:[3 (B) 12 fire

(©) 30 fir2 (D) 24 fiFe

U TEAT 3N I SN AN e 9N I6F
SR & e A T @ | 98 e €

@A) 3 B) +2
1 1
(C) i-ﬁ (D) iE

i
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Herbivoures are also called as
(A) Decomposers

(B) Producers

(C) Secondary consumers

(D) Primary consumers

‘Neeru Meeru' (water and you) programme
was launched in the state of

(A) Andhra Pradesh (B) Tamil Nadu
(C) Uttar Pradesh (M Gujarat

In a sale, a perfume is available at a discount
of 15% on the selling price. If the perfume’s
discounted selling price is Rs. 3,675.40, what
was the original selling price of the perfume ?
(A) Rs. 4,294 (B) Re. 4,324
(C) Rs. 4,400 (D) Rs. 4,386

Special characters that generally cannot be
typed from the keyboard are known as

(A) Symbol (B) Equation

(C) Number (D) Letter

Find the missing letters in the sequence.
a_bbe_aab_caaa_bea_

(A) aabbb (B) ababa
(C) bbaab (D) aabba
BTOS stands for

(A) Risk Time Operating System

(B) Running Time Operating Systém
(C) Round Time Operating System
(D) Real Time Operating System

Consider the following about the
Indian Constitution.

i. Uniform Civil Code.

i1 Prohibition of Consumption of Liquor.
iii. Promotion of Village Panchayath.
jv. Promotion of the Cottage Industries.

All the above are the part of

(A) Directive Principles of State Policies
(B) Funda mental Duties
(X Fundamental Rights
(D) None of the above

10,

11.

12,

13.

14.

Headguarter of Inte rnational Labour
Organisation is _ ™
(A) Geneva (B) Manila 2
(C) Rome (D) Hague w
3

CMES - S6
TITRTETE] fiFed s |
(A) AT
(B) e
(C) Taelires sustrar
(D) wafir I

Eitaiuit {aaaﬂim}mﬂaﬁq%aﬂﬁﬁ*{gs
Tepa T o 1

(A) g wem (B) wiHerTg
(C) I e (D) T
s O@ H, UF TR fawd Hed
W 15% 1 g W Iqeed 2 |
I 1 famdd T g
%. 3,675.40 & Y, TorEH 1 U A
T T a ?

(&) %. 4,294 (B) %. 4,324
(C) ¥. 4,400 (D) %. 4,386
frsry 3iEer < g FETe 4 2R el e S
Hed FEeTd ¢ |

(&) Reaa (B) FHTH

(SEEER (D) &

1§ @ HEan I i |
a_bbe_aab_caaa_bca_

(A) aabbb (B) ababa

{C) bbaab (D} aabba
RTOS. __ Ffmwasmaz |

(A) foem ergm sfattan e ObE
B) =i 2rgn satfan fawen é.: =

(C) T3 erz| srafen Frew
(D) frret zren wfen fawen
st dfum & A Fefaten w EEm |
i, T e |fEd |

i, ITE & Had w1 e

iii, T TR Y T & |

by, R I 1 T & |

aoptier aft e R € 7

(&) T Hifert % Frewe faid

(B) Hiferh FaoA

(C) Tferer sHfireR

(D) i @ FE
ﬁﬁmﬁnﬁmg@m___ﬁ%:
(A) ST (B) Wt

(©) m (D) &
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16. Which plant movement is induced by injury ?
(B) Photonasty
(D)) Nyctinasty

(A) Hydrotropism
(0 Tromatropisin
17. How many times minute hand and the hour

hand point in opposite directions during
3 p.m. to 9 p.m. in a day ?

[;‘!!L} zero {B} ﬁve
(C) four (D) six

18. The bock titled “The Republic” was written by
(A) Plato (B) Aristotle
(C) Socrates (D) None of the above

19, In a word document
the letter only once.

(A) outlook
(C) messaging

is used to type

(B) mail merge
(D) e-mail

20. The largest salt water lake in India is
(A) Dal (B) Pulicat
%ﬁl‘ (C) Chilka (D) Kolleru
0]

21. How many pollen sacs presentin each anther

lobe ?
(A) Five (B) Two
(C) One (D) Three

23, A man walks 10 kms towards North. From
there he walks 6 kms towards South. Then
he walks 3 kmes towards East. How far and
in which direction is he with reference to his
starting point ?

(A) 7 kms towards West
(B) 7 kms towards East
(C) 5 kms towards North-East
(D) 5 kms towards West

23, If the base radius and the height of a
right circular cone are increaged by 209%,
then the percentage increase in volume is

approximately
(A) 78 (B) 60
(C) 73 (D) 68
24, There is low yield per acre but high yield per
person in

(A) Extensive commercial grain cultivation
(B) Mixed farming

(C) Co-operative farming

(D) Truck farming

'11

i

L CMES - ¢
A

16 %Wﬁmﬁaﬁﬁ#—mwﬁrﬁﬂﬁﬁ?ﬁg?

| (A) BEGIGITH (B) WM
(C) ZHRITEH D) e

17. @ﬁqﬁsa@rﬁaaﬁ%ﬂmmﬁmmm
xﬁﬁnﬁémﬁﬁﬁﬁﬁqﬁﬁﬁwﬁwﬁrﬁ?
(A) A (B) 9=
(C) IR (D) ©:

18 ‘o ffRrs A g e g ford T ot 7
(A) =i (B) 3,

(C) gHTd (D) I | &

19, T 92 TEEd A 1 AN U AER &
Frerel U S 23R F ok U AT R |
(A) ST (B) W&l Hal
il D) -7

20. WA @R A T w1 e B
) ®) e

21. Tedeh U A e TanTeRny HisE g @ 7
(A) U= ®)
= R 10 T

22. & 10 fr. 1. I .
Sl e oy o o

=Terdl .
ﬁmﬁaﬂ;ﬁﬂ_ﬁﬁ? ek fig % wiesl 1 vl
(A) wfeem i 3w 7 f6. 1,

(B) 9& 1 3t 7 fp ft.
(C) STR-qd i 3R 5 ..

28. R O T oty vigp ) s frear stk S A
20% ) e ) et B, Y v # e R
sferre =) gy g 7
(A) 78 B) 60
s (D) 68

24. gﬁﬁﬁﬁﬂmﬁ s
mgﬁmﬁﬁmﬁgﬁmmm T
(A) SUIF ST ST 6 Bt
(B) fufia @t
(C) TEhil Bt
(D) 7 @t
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Qailors : Crew : : Sheep : ?

(A) Herd (B) Crowd

(C) Army (D) Flock

Arjuna Award was instituted in the year

1961. It 1s given to sports persons for

consistent outstanding performance for

(A) over the period of last five years

(B) over the period of last two years

(C) over the period of last four years

(D) over the period of last three years

In Power point using WordArt you can easily
create

(A) Logos (B) Seals

(C) Banners (D) All of the above
Two ladies and two men are playing bridge-a
card game and seated at North, East, South and
West of a table. No lady is facing east. Persons
sitting opposite to each other are not of the same
sex. One man is facing South, Which directions
are the ladies facing ?
(A) North and West
(C) MNorth and East

(B) East and West
(D) South and East

Sputh Asian Association for Regional
Co-operation (SAARC) was establizhed in
(A) 2001 (B) 2000

(C) 2010 (D) 1985

The book ‘Pahala Girmatiya' was written by
(A) Gopal Krishna Gandhi

(B) Giriraj Kishaore

{C) Rajmohan Gandhi

=
(D) Ramachandra Guha g&%
The Aadhaar (Targeted Delivery Op=)

of Financial and other Subszidies,
Benefits and Services) Act was
enacted in which year ?

(A) 2019 (B) 2016
(C) 2018 (Dy 2017

Body segmentation like rings is present in
(A) Annelida (B) Non chordata
(C) Chordata (D) Animalia
Which number come in the place of question
3,5, 10,12, 24, 26,7
M) 48 52

mark ?
)

C) 28 30

ol
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o « ey e 7
(A) B8 (B) %138
(C) =i (D) Wit

T3} 31amE i v ad 1961 H g | ww
ﬁﬁ%mﬁ%ﬂmmhm%mf@mﬁﬂaﬁﬁm
AR |

(A) o uT= =91 i ety

(B) firost 21 aui it s@fy

(©) foee = ayl 6 aafa

() fires = =ut it aafy

T i # adaATE o1 wEi O Y Y e i
TN HFA D |

(&) @ (B) Hi&t

C) =™ (D) 3 @t

'aaﬂﬁﬂhawﬁﬁﬁa@a@%ﬁﬁm
oF I 3 T O B ST U B gﬁ?ﬁ
3, T, afm ah ofrem # A3 8 | feed B2
i w1 g@ T A TR 2 | T T
e R fmFT I

=i 7 @ St 1 3 R | A

1@ e fem A e 7
(B) 98 3N ufem
g

=farm ufirar &fm wedm @eT (SAARC) Hi
AT HEs |

(A) 2001 (B) 2000

(C) 2010 (D) 1985

e freafean’ geae s g ferlt o oft 7

(A) TiTaTE it

(B) frifust 1=

(C) T=THIER Ml

(D) T T

s (feta aff sy wfsh, o afit femed =
wifara Foreon) arfrfem fre o @ fr mn o ?

(A) 2019 (B) 2016
(C) 2018 D) 2017

fio <t 7@ T wegE R

(A) wiferr (B) hwda#
() wEa A (D) vy #

v frd & Tu qCEA-H dEn s 7
3, 5, 10, 12, 24, 26,?
(A) 48
(C) 28

(I3) b2
(Iy 30

T11
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Central Soil Salinity Research Institute
(CSSRI ) located in

(A) Delhi (3) Hisar EE‘“‘*E
(C) Karnal (D) Rohtak MRE
UN General Aszembly declared Human
Rights on

(A) 10 December 1948
(B) 10 December 1978
(C) 10 November 1948
(D) 10 November 1978

In the context of Indian economy. nsider
the following statements abane Market
Stabilisation Scheme(MSS),

I. Market Stabilization Scheme (MSS) is
4 monetary policy intervention by the
RBI to withdraw excess liquidity (or
money supply) by selling
Eovernment securities in the economy.

II. The MSS was introduced in December
2020,

Choose the right option given below,

(A) Both the statements [ and IT are
correct

(B) The statement II is correct
(C) The statement I is correct

(D) None of the above

Find odd man out of the following.
1,4, 98, 16, 19, 36, 49, 64, 51

(A) 16 (B) 9

(C) 49 (D) 19

In cockroach fertilisation is

(&) Both(B) and (C) (B) External
(C) Internal (D) MNone of these

An example of horizontal group is
(A) Chance groups (B) Class groups
(C) Caste groups (D) Peer groups

India will develop a national strategy for
phasing down HFCs in the coming year, in
consultation with the industry and conclude by
(A) 2024 (B) 2021
(C) 2023 (D) 2022
The memory management scheme that allows

the processor to be stored non-contiguously in
memory is

(A) Paging

(B} Spooling

(Cy Swapping

(D) None of the above

HE N

35,

36.

37.

38.
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40,
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feme ?
(A) feweh A B) femmi
() e | (D) ews d

T g HRTAHT A AR Hifhd
(A) 10 fed= 1948
(B) 10 femer 1978
(C) 10 ==K 1948
(D) 10 7= 1978

R rdferaeyr & ded 4§, s e a@me
(wrmg) F = 4 Fmfaias s o it
I. =T fesrdieror e (Tremes) s an
o O Hifew it s & e g
wfasgfiri =1 S sreferaser f arfafem
Tqeerar (41 q51 31f) = aoe A e e
11, wugE =1 fEgen 2020 5 Y91 fFr mar e |

=ferfiaa # & adt g w1 a5
(A) I3 11391 o gt 2

(B) F¢H 11 wet &

(C) T 1 w2

(D) I F & 1 7
ﬁw%%aﬁﬁéﬁaéw#qm

1,4, 9, 16, 19, 36, 49, 64, 81
(A) 18 (B) 9

(C) 49 (D) 19
Hier #§ Fie gy 2
(A) (B) 37 (C) g
(C) anafe

&= wg 1 o SR
(A) |9mE (B) =f

(©) wirfe g (D) wﬁw
mﬁméaﬁﬁﬂchﬁra’zmﬁ#%gwh%Wﬁ
I UF T Wil i w5t oy

T AT L 3777 |

(A) 2024 (B) 2021

(C) 2023 (D) 2022

T BT waTere Uen Wi ot e e Syerey
B F wEd w2 we H wa |

(A) Tfem

(B) wqfem

(C) ==

(D) It o | g Tl

(B) =rsdt
(D) 339 & ¢ 7ef

2

dow wiger dfafife fret 0feede (CSSRI ) 3

!
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If by arranging the letters of the word
NABMODINT, the name of a game is formed,
what are the first and the last letters of the
word formed ?
(A BN
(C) N, D

(B) B, T
D) AT

In a family, the average age of a father and
a mother is 35 years. The average age of the
father, mother and their only son is 27 years.
What is the age of the son ?

{A) 10 yvears (B) 12 years
{C) 15 years (D) 11 years

World Health Organization currently has
how many member states ?

(A) 189

(B) 190

(C) 185

(D) None of the above

Value of MPC lies between
{(A) Oand 1 (B) 1and2
(C) 2and 4 (D) O0and 0.5

Vishing is mean for
(A) Phishing
(C) SMS phishing

(B) Voice phishing
(D) All the above

Consider the following statements about
double coincidence of wanta.

1. When in the exchange, both parties
agree to sell and buy each other’s
commodities it is called double
eoincidence of wants.

II. In the barter system double
eoinecidence of wants is an essential
feature.

Choose the right option given below,

(A) Both the statements I and II are
lnecorrect

(B) The statement I is correct

(C) Both the statements I and II are
correct

(D) The statement II is correct

What is the missing number ?

26> L83 17>
S
© 6 ®) 5

43,

44,

45.

46.

47.

48,
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NABMODINT 912 % avil 1 wpafier o1 & v
Wl &1 AW AT ], 36 58 1 qeer A sifim
TR T

(A) B, N (B) B, T
(C) N, D D) A, T
s aftEr o, fira it wren i eited s a5 A 2
feyem, e 37 3 gereia AR alwm sy 27 A R |
A IR 7
(A) 1099 (B) 1299
(C) 157 @) 1199
forva wmeen g w1 e mem Tsa R 7
(A) 189
(B) 190
(C) 185
(D) 9=a © A =S el
MPC =1 HH Fda T |
) 0 3 1 B) 1 3t 2
(©) 2 3 4 (D) 0 3R 0.5
farfim = weerw 2 ,
(A) fefem _ (B) atam fifiim
© www fefim (D) I
arEvgRaTat  dret e % e frefafea we
T A |
1. < e 6, SHT 9 TH-gal
g @ 3 SR R F e
TETA T & A1 38 STETEEa
e G T S E | :
i 8 a@ﬁﬁﬂ‘ﬂwﬁﬁmﬂ’imﬁaﬂmﬂﬂﬁ
arfard fasa 2 |
Erferfag 1 & we feed &1 T |
(A) e I 3iv 11 2t weh e 8
(B) wud ] Gel @
(©) aﬁﬁﬂanﬁIHEﬁ%
(D) e 11 5l
T w7 A
D & )
G ()
(A) 7
©) 6 (D) b

T11
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48 Which of the following gas is removed using
Serubber ?

(A) H, (B) 50,
(C) CO, (D) NH,

60 One who emphasized upon uniqueness of
Indian culture and civilization and studying
Indian seciety as a whole is

(A) The traditionalist
(B) The nationalist
(C) The cosmopolitan
(D) The radicals

51, If the letters of the word RANDOM are
written in all possible orders and these
words are arranged as in g dictionary, then
the rank of the word RANDOM is
(A) 818 (B) 613
(C) 814 (D) 615 °

52. Enlargement of the thyroid gland s
commonly ealled as

(A) Goitre

(B) Hyperthyroidism
(C) Cretinism

(D) Mutism

63. Select the correct mirror image of thé'given
figure when the mirror is placed at.line AB,

A

(B)

=0
=3
E>A (D)
=

A=

=

-R-

T11
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Frafafiaa 7 8 F-T 19 F1 T m
BRI W HEFEAT R 7
(A) H, (B) S0,
(C) CO, (D) NH,
forert st siepfa i @ 6 fafirem o,
fean sfft T w9 @ AT IS e fy
21
(A) WA
(B) Trgamdl
(C) it
(D) ¥fewem
afs RANDOM w52 % 37erii =1 gt
atfaa w4 o s ofl = wrss

I U eI % w9 § sEftig 6
ST, At RANDOM 9152 77 %5 8

(4) 816 (B) 613 [
(C) 614 D) 615 FrE
: 158 TTY =1 we1 21 gy, ELRIn
|
(A) Tar (B) tfimemifim
(C) st (D) T
ﬂﬂﬁﬂ@%aﬂﬂﬁaﬁwnﬁrﬁagﬁqwﬁmﬁ
Aﬂmmgnm%
Ja
3
AN
Y
(S34ry) 5
LS £
B
@) : A ®) ﬁg G
SN
© : A (D) 1%
!t{'tbﬂa! g % 2
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What was the theme of World Leprosy Day —

20217
(A) Leprosy is not what you think

(B) Beat leprosy, end stigma and advocate
for mental wellbeing

(C) Ending discrimination stigma and
prejudice

(I None of the above

A is B’s brother. C is Ii's father E iz B's
mother. A and D are brothers. How is C
relatedto E 7

(A) Niece (B) Wife
() Sister-in-law (I Hushand
NO,
Sn+HCI .
orFexHOL * o
(A) Ethanamine (B) Aniline
(C) Allylamine (D) Toluene

Which research technique would most likely
be used by a symbolic interactionist ?

(A) Questionnaires
(B) Participant observation %
(C) Burveys (0}
(D} None of the above

If 3 persons weave 168 shawls in

14 days, how many shawls will 8
persons weave in 5 days ?

E%E

(A) 160 (B) 90
(C) 126 (D) 106
In page tab, is used to reduce or

enlarge the print.
(A) orientation (B) paper size
(C) page numbering (D) scaling

In acertain It ge, TOOK 12 coded as 61, CAN
is coded as 18, then GUAVA will be coded as

{A) B7 (B) 52

(C) 62 (D) 54

offences cannot be investigated
by the Police on their own, unless directed
by the courts having jurisdiction to do so.
{A) MNon-bailable (3) Cognizable

{C) Bailable (D} Non-cognizable

-
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fava =g R - 2021 =1 ta wm T ot ?
(A) % ) 71 < oy g 3

(B) %1g ! BT, Feleh TG w61 AN g

R 6 FRTed T
(C) WETIT Sheteh ST BT I FaT FE
(D) 359 ° @ 1 7

ABFYERIC,DH 2 IEB
FHR2IAMDYERIC FED
FIHATE 7
(A) wefrsh
(C) st

(B) wedt
(D) wfa

EAE

NO,

Sn+HCI N
———y 4,
or Fe+HCI

(A) 3UeTdH (B) wHifer
(C) FAETHIA (D) eieqd

Wit 37 famamat gamn e e wE =
e ity Iggin R smom 7

(A) wyTTEE

(B) wftrymfl sate

(C) weT

(D) Iuted # & w7

af 3 =afFr 14 B 4 168 ofE g9 2, 9t 8 =fF
5 fet i fomart wifet 01 7

(A) 160 (B) 90

(C) 126 D) 105

et 3w 1, =1 v iz = wen @ wen
Ffomdaie ) i

(A) a{ﬁ]ﬂ@ﬁﬁm TS =R HTRIE

1w w1 3 TOOK 1 2 61, CAN =¥z 188,
it GUAVA 1 2 8
A) BT
Ec':l 62 £y ba
sl o) e qierE S1ue e 7
Tl st ik 1 3 RAeTd A 9 Frdfirg 7 foma

o B 3] ag ST E |
s frah sl T i
(A) it sl {1:} %T
(¢ smre (1) SATATEE

T1l

(B) 52
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R H
% g mass 0.1 % 109 kg) and | 62, FTH (9.1 x 10713 1) 37 37991 (1.6 x 1090
An electron having mass (© E : &9 T U a0 1054 g
62. ‘] == {i 6 x 10-""C) moves in a circular path W@W%W il - BN
E;:;iius .ﬂ.ﬁ m with a velocity 10°ms™ in a F gmy fiw 0.5 . & o g oy § TR |
magnetic field. Strength of magnetic field is @?ﬁ‘[—q gz o1 wifed @
(@) 3.6 10°T (B) 1.13 % 10°T (4) 36X 10°T 8 L1 10T
(©) 2.8 x 10T (D) 5.6 10T (C) 2.8 % 10T (D) 5.6 x10°T
63. In which battle Pulakeshi II killed | g3, gedwit 11 3 form g  wimcter ahr ay fia o 7
Mangalesha ? LGERIEIED aftmmen ERIE
(A) Ellwattusimbige (B) Manimangala (&) (B - ; I;f’f
(C) Suramara (D) Narmada (C) U (D) a0
B4, is used for tracking inflation. 6. TETERIT =61 7T TE % fore wge Eiar g |
(A) WPI-IW (B) WPI (A) WPI-IW (B) WPI
[=] 5 =]
(C) CPIIW (D) CPI s (C) CPL-IW (D) CPI
65. The calendar of the year 1992 can 66. 1992 % Feivet foR A forg ad I foman s weman
be used again in the year 27
(A) 2016 (B) 2010 (A) 2016 (B) 2010
(C) 2018 (D) 2020 (C) 2018 (D) 2020
66. H.C.F.and L.C.M, of p¥q*rSand pg’r! are 66. pigirt IR péqr! 1 WETH GEIEAE 1T SRGE
A b 8. O S| 3 P T . | % FGB‘MNG*IC@C’GM
(A) pPar?, piqr (B) p*q®r®, pqr (A) pigh, pfgirt (B) p2q®r, piqr
{B:l pﬁqﬁrij pﬁq-i-rd [D} pﬂqﬁrl!- pﬁqdrﬁ (C} pﬂqﬂrl, pﬂq-ir.{ {DJ paq21.+' pﬁqdrﬁ
67. is one way encryption algorithm 67. U A1 I Geniem € S ey =
that does not use any key to encrypt TG H 1 2 Glerd F o faneft T T
decrypt the data. & w1 |
(A) Symmetric cryptography (A) ﬁ;ﬁ‘:@% frmmdy
(B) Public key cryptography (B) vfeetsh Fft fpdiomdy
(C) Secret key eryptography © %ﬁﬁq@mﬁ
(D) Hash function (D) &9
68. Name the deposits have g f :
b a fixed period to 6B, 3Ig ﬁ'ﬂ;‘h?%?m TaEu o e fAfrss figsamr
(A) Recurrent deposits (A) 3mafy s
(B) Time deposits (B) &89 3y
(C) Current deposits (C) mm
(D) Savingg deposits (D) T3 =3y
69. Drug prices in Indja are regulated to ensure 69, Arafiry
continued availability and Ef.fm‘d%lbility of ::a -ﬁ FIAR g I
essential lifesaving drugs with improveq & '_!i 1““@5‘%?791 HTGTTF Sigiares afwfiral
access to consumers by T ey 3 T shfRm e ®
(A) National Drugs Manufacturers P""[mc’:"“c‘\:l?l FATE o m
Authority (NDMA) . (A) Aerry
National Drugs Authority (NDA) Ry Ce ST (NDMA)
(B) on g . Prici (B) amagrg i
(C) National Pharmaceutical Fricing (C) Y Sl (NDA)
Authority (NPPA) T STeffE (NPPA)
(D) None (D) s =y
T11 o
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A group of districts form a which

is looked after by an officer of the rank of
Deputy Inspector General of Police.

(A) Division (B) Range
(C) Circle (D) Block

The coagulation of egg white on boiling is a
common example of

(A) rancidification

of protein.
(B) oxidation

(D) densification

(C) denaturation

From the given answer figures, select the
one in which the guestion figure is hidden/
embedded (Rotation is not allowed).

B,

| 3x ® |2
BIRE
(C) ﬁ ™) %

Which pair of rational numbers lies between
1nd39
4 4

9 31 262 762
(&) 20’ 40 1000' 1000
24 T4 D 252 748
© Too’ 100 ) 1000’ 1000
Ascaris causes disease in
(A) Heart (B) Intestine
(C) Eyes (D) Brain

The paid servant appointed by East India
Company to supervise weavers, collect
supplies and examine the quality of cloth

(A) Gomasthas (B) Zamindars
(C) Lathiyals () Jobberas

FDI in food processing is to the extent of
(&) 100% (B) 10%
(C) 76% (D) 60%

=11-
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0. ReliFwGEEes @i %
ﬁETﬁfTETEﬁ R % U e A e 2
(4] Hes (B) it
(C) ot (D) @ ;
T1.  JeTer T 372 & Ghe W o1 Tha 0id & '
il 4 S
(A) Tiferd g (B) 37=ra "r;tf;i
(C) TFeroefaeraor (D) wffg R
72. @ E IW Amplaal o @ g e g el g
el geft 3 /amfea @ (g =t argafa & ) |
N o
73. % 3t %%a‘)ﬂqﬁﬁwmaﬁaﬂaﬂ?@n
g7
9 31 262 752
@) 40’ 40 ® {000’ 1000
@ 2t 252 748
100" 100 1000° 1000
74, UEHT@ Himaae |l
(A) BT (B) &4
(C) 7 (D) nferss
75. W%ﬂﬁam,mﬁmﬂaﬁaﬁﬁwﬂﬁ
<) e #g S siEa g Fgea daiih da
(A) THTEAT (B) sffart
(C) wifara Ky Wi
76, e A wwdond____ aw |
(A) 100% (B) :“:5
©) 6% (D) 60% |
TI1 .g
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If the third day of a month is Monday, which
of the following will be the fifth day from 21%
of the month ?

(A) Wednesday (B) Monday

(C) Thursday (D) Tuesday

A man can row 6 km/h in still water. If
the speed of the current is 2 km/h, it takes
3 hours more in upstream than in the
down-stream for the same distance. The distance is

(A) 32 km (B) 30 km
(C) 20km (D) 24 km
In Excel error occurs when the cell
reference is invalid.
(&) #DIVIO! (B) #NAME?
(C) #REF! (D) #VALUE!

The cost of having a little more of one good

in terms of the amount of the sther good that
has to be forgone is known as

(A) Replacement cost

(B) Historical cost E]?.k?";:;
(€) Opportunity cost GRRE!

(D) Accounting cost

For a certain metal, incident frequency
Y i8 five times of threshold frequedcy v,
and the maximum velocity of coming out
photoelectrons is 8 x 10°me-!, If =2y, the

maximum velocity of photoelectrons will be
(A) 1% 105ms? (B) 4 x 10%mg!
(C) 8 % 10°me (D) 6% 10%ms!

Saroj doesn’t like Dipankar. Pooja doesn't
like Saroj. So, it is surprising that Pooja's
son Hardik likes Dipankar.

Which of the following, most strongly,
weakens the above argument ?

(A) Hardik does not like Saroj

(B) Pooja likes Dipankar

(C) Hardik likes Saroj

(D) Saroj likes Pooja

The difference between the Re Venue Receipts
Plus Non-debt Capital Receiptg lNDCR} and
the total expenditure is called

(A) Trade surplus
(C) Trade deficit

-12-
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a2 v Are F E0 T EHEn R, ww

qteran f Preferfiad # @ = € 7

(4) TR @) Hram

(C) T (D) HTeER
amerft foor arft # 6 foft/der < e g 4y

aﬁm% |uﬁﬂmﬁnﬁgﬁﬁﬁﬁm€i%,ﬂ*m§ﬁ

¥ for argedim o e SEA-E i 39 arfiy

g A 8, 3l 2

2] g

A) 32 fert (B) 30 ferr

(©) 20 frdt (D) 24 ferrt
R d R e o der wed s dmd
(A) #DIVIO! (B) #NAME?

(Cy #REF! (D) #VALURE!

feret = =01 efren T s7firen et o= g )
& =ract A o @ Bre 3 o, FEATIE |
(A) wieesmm e

(B) ety wre -
(C) STaET =T S
(D) TrE =T B

w3 gy
(A) 1% 108mg-!

(B) 4 x 10°ms™!
(C) 8 % 10°mg-!

(D) 6 x 10°ms-!
T TR Y e T et | QST I ] T
e et 2 |3HF¢‘f=1}IE MR am g de

(A) mﬁ'ﬁﬁﬂﬂaﬁmqﬁm
(B) TS <hieht 1 i e 2
(C) TR = wirer v 2

(D) ¥ =1 9577 gz 2

USRS il s swofeg s wif@a (NDCR)
MIA T oo st

(A) ST A1fergry (B) TSR ETeT

(C) ST T (D) TS iy
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Where is the Great Bath of Indus Valley
Civilization located ? =
(A) Kalibangan

(C) Mohenjodaro

84.

(B) Harappa
(D) Lothal
g5, 10x10x 10+ (20 + 10 x 10-10)+6="2
(A) 106 (B) 108 '
(C) 114 D) 111
86. Secret key cryptography is also called
(A) symmetric encryption
(B) asymmetric encryption
(C) plain encryption
(D) none of the above

87. In this question, two statements are given
followed by two conclusions. Choose the
conclusion (s) which best fit (s) logically.
Statements :

1. Some Ais B

2. Some B is not C
Coneclusions :

I. Some Cis B

II. Some Cisnot B
(A) Both conclusions I and II follows
(B) Only conclusion II follows

(C) Either conclusion I or IT follows
(D) Only conclusion I follows

88. Recently erupted active voleano from Mount
Merapi is in

(A) India (B) Myanmar
(C) Indonesia (D) SriLanka
89, is the process of changing

the appearance of text and making
presentation easier to read. 1
(A) Adding graphics (B) Formatifmg
(&) Editing} e (D) Prea-entmg
80. Cars are safer than planes. Fifty percent
of accidents result in death, wlh11e only one
percent of car accidents result in death.
Which of the following, if true, wauld?muat
seriously weaken the argument above y
(A) Plane accidents are usually the fault o
g air traffic controllers, not pilots
m‘% (B) Planes are inspected more often than cufrﬂ
(C) Pilots never fly under the influence 0
aleochel, while car drivers often do ]
er of car nccidents is severd
2 Eﬁit?ri?:}huummd times higher than
the number of plane accidents
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English Language

Fill in the blank with appropriate phrasal
verbs from the alternatives given below it.
He _ business in the absence of his
father,

(A) carried off
(C) carried away

(B} carried out
(D) ecarried on

In the following question has four words
(options) of which three words have a similar
meaning or are synonyms one of the words
has a meaning different from the rest. Select
that word/option as the answer,

{A) Distinguish (B) Differentiate

(C) Licentious (D) Discern

Choose the right synonym of the given word.
Charity

{A) immaculate
(C) benevolence

(B) blame
(D) defraud

The following sentence contains grammatical
error or idiomatic error in it. You have to
find out that part of the sentence and choose
the alphabet of that part as your answer.
No sooner had I reached the office when'l got
the news of your arrival,
(A) news of your arrival
(B) No sooner had
(C) when I got the
(D) I reached the office

Foamnotice -Com
In the following question, part of
the sentence is underlined. Below
are given alternatives to the
underlined part at (A), (B) and (C)
which may improve the sentence.
Choose the correct alternative. In
CaS¢ NoO improvement is needed,
your answer is ()

Kiran was so afraid that his knees
knocked one another.

(A) both (B) and (C)

(B) each other

(C) one against

(1) no improvement
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